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Integrate again and learn that
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3. Consider the initial value problem % =122 +y?, y(0) =1. Use Euler’s
method to approximate y(2/10). Use two steps, each of size 1/10.

Consider the picture:
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The curve represents the correct solution of the initial value problem. We
approximate the real solution with the two line segments. The line segment from
(0,1) to (1/10,y;) has slope equal to (z2 + ¢*)|(0,1)- The line segment from
(1/10,y1) to (2/10,y2) has slope equal to (2% +92)|(1/10,) - Of course, ya is our
approximation of y(2/10).



